R5.6.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
ik 48, 868| 109, 581 53, 256] 56, 325 97 71 -45 58 103 116]  526] 410 0 85 85
HI—TH 696 1,479 721 758 -5 -9 -2 0 2 -7 3 10 0 0 0
FLl T H 5591 1,288 639 649 0 1 -2 0 2 3 11 8 0 0 0
LI =TH 462 1,042 503 539 5 -3 0 3 3 4 1 5 6 1
SLbAEH L, 717l 3,809] 1,863| 1,946 =5 -3 =7 0 7 -1 18 19 5 6 1
Sk —TH 475 932 434 498 3 3 -3 1 4 7 10 3 -1 1 2
. = 719 1,690 811 879 0 -3 -2 0 2 0 9 9 -1 1 2
SR —TH 554 1,286 618 668 —4 -2 0 2 -3 9 12 1 1 0
S AT H 400 881 437 444 -1 -5 0 0 -2 5 7 -3 1 4
ot T H 618 1,329 639 690 —4 0 2 3 1 -3 1 4 1 3 2
BN T B 240 504 251 253 -1 -3 -2 0 2 -1 1 2 0 0 0
ARt TH 649 1,657 805 852 1 0 -1 0 1 0 3 3 1 1 0
oA\ T H 385 839 386 453 -2 —4 -1 0 1 -3 0 3 0 0 0
IV B 618[ 1,470 726 744 2 9 -1 0 1 9 11 2 1 1 0
B naatl 4,658 10,588 5,107 5,481 -7l =10 4 14 4 49 45 -1 9 10
e n—1H 362 813 400 413 4 4 0 0 0 0 3 3 4 4 0
sk T HL 1,017 2,092 1,052 1,040 -1 -2 3 5 1 4 0 0 0
HHk o —TH 676| 1,380 681 699 -2 -10 —4 0 4 -1 3 -5 0 5
Wk A Erl 2,055 4,285 2,133] 2,152 2 -7 -6 3 9 0 10 10 -1 4 5
ST a1 H 553| 1,237 604 633 4 4 -1 1 2 6 7 1 -1 0 1
ek R _TH 359 917 466 451 -1 -5 0 0 0 -5 3 8 0 0 0
Mk R =TH 256 552 289 263 -2 -3 2 2 0 1 2 1 -6 0 6
ik L G| 566 1,305 663 642 1 0 0 0 0 2 2 4 4 0
msEr aaEt] 1,734 4,011] 2,022 1,989 2 1 3 2 2 14 12 -3 4 7
TEIT) 370 847 405 442 -2 -3 0 0 0 -3 2 5 0 0 0
HOEEN— T H 208 429 214 215 -1 -1 -2 0 2 0 2 2 1 1 0
HOEE T H 422 935 456 479 0 -2 0 0 0 -2 2 4 0 0 0
HoEEI =T H 690| 1,680 825 855 1 —4 -1 0 1 -1 2 3 -2 0 2
HOEEAN T H 804 2,026] 1,002 1,024 -2 -1 2 2 0 2 4 2 -5 0 5
HEROH T H 443l 1,031 522 509 -2 -3 -1 0 1 -1 1 2 -1 0 1
HOEEIS T H 393 872 424 448 0 -3 —4 0 4 1 2 1 0 0 0
HoEEOETH 678 1,452 711 741 -1 —4 -1 0 1 —4 9 13 1 1 0
HOEEHO S AR 3,638 8,425 4,154 4,271 -5 -18 -7 2 9 -5 22 27 -6 2 8
PEEE | 1, 5200 2,773 1,324 1,449 —4 -9 -2 0 2 -7 5 12 0 1 1
FHIAR 301 635 329 306 5 0 0 0 5 7 2 0 0 0
EE g —T 550/ 1,118 515 603 -1 -1 1 2 0 3 3 0 0 0
EE g — T 258 514 258 256 2 5 0 1 1 2 2 0 3 3 0
R =T H 527 1,163 579 584 -3 -3 -1 0 1 -2 3 5 0 0 0
TEE Py T 647 1,295 613 682 6 5 1 1 0 4 8 4 0 0 0
EEP g R T H 238 539 270 269 0 -1 0 0 0 -1 0 1 0 0 0
EEP A2 2 2200 4,629] 2,235 2,394 5 5 -1 3 4 3 16 13 3 3 0
EEIARRT— T H 689 1,379 646 733 1 -1 0 1 1 0 7 7 -1 0 1
EEIARRT T H 666 1,278 592 686 2 0 -1 0 1 4 6 2 -3 1 4
EEOARRTAE 1,365 2,657 1,238| 1,419 3 -1 -1 1 2 4 13 9 —4 1 5
RPN 274 771 422 349 2 2 0 0 0 2 1 0 0 0
WHR—TH 720/l 1,639 806 833 0 1 0 1 1 1 4 0 0 0
OO T H| L 743 3,961] 1,910] 2,051 1 3 3 3 0 -2 18 20 2 6 4
WHR=TH 874/ 2,211| 1,076] 1,135 -1 -5 1 2 1 1 4 3 -7 0 7
HHRIT H 500/ 1,198 565 633 10 1 1 0 9 11 2 0 0 0
WP REEH 3,837 9,009| 4,357 4,652 9 5 7 2 9 38 29 -5 6 11
HiR—TH 7200 1,582 770 812 2 2 0 2 6 4 -1 1 2
IHR_"TH 935 2,220] 1,111] 1,109 1 -1 1 2 1 7 6 1 1 0
PR =TH 528[l 1,089 557 532 25 23 0 1 1 21 35 14 2 2 0
bR &EH 2,183 4,891 2,438] 2,453 31 27 4 3 24 48 24 2 4 2
T IROBTHT 329 816 393 423 1 3 0 0 0 2 3 1 1 1 0
el 1,603 5,075] 2,259 2,816 -3 -7 —4 1 5 -2 7 9 -1 0 1
M E T H 743 1,707 818 889 4 3 1 1 0 1 5 4 1 1 0
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JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 764 1,813 907 906 0 -9 -3 0 3 1 5 4 -7 0 7
MoE =1 H 646 1,504 743 761 6 12 -2 1 3 9 11 2 5 5 0
A EN T H 938l 2,203| 1,036 1,167 2 5 -1 1 2 0 7 7 6 6 0
RCENNE 658 1,487 732 755 —4 -7 0 0 0 1 6 5 -8 0 8
MAEST H 420 979 455 524 -1 —/ -1 0 1 -2 2 4 -1 0 1
Ml EaE 4,169  9,693] 4,691| 5,002 7 0 —6 3 9 10 36 26 —4 12 16
VEPIe S 570[ 1,141 556 585 -2 -2 1 1 0 -3 4 0 0 0
e —TH 319 688 327 361 —4 -5 0 0 0 —4 4 -1 0 1
e — T H 5971 1,323 627 696 0 3 -1 0 1 0 2 4 4 0
A gl 916| 2,011 954| 1,057 —4 -2 -1 0 1 —4 6 3 4 1
E— 1 H 370 744 374 370 31 35 1 1 0 33 68 35 1 1 0
= =T H 654/ 1,381 649 732 5 2 -2 0 2 2 4 2 2 0
=T H 412|l 1,068 529 539 -3 -5 1 1 0 -3 5 -3 0 3
EAaEkl 1,436] 3,193 1,552 1,641 33 32 0 2 2 32 76 44 0 3 3
e —TH 381 915 429 486 0 2 -2 0 2 2 4 2 2 2 0
WHE T H 443 1,075 534 541 0 -1 -1 0 1 0 2 2 0 0 0
HWHE =T H 830/ 2,029] 1,041 988 6 15 1 3 2 8 13 5 6 6 0
W& T B 4491 1,026 499 527 0 0 -1 1 2 1 2 1 0 0 0
B E ] H 830/ 1,803 386 917 -1 1 3 2 6 10 4 -2 0 2
HHIENT H 243 507 256 251 1 1 0 0 0 2 3 1 -1 0 1
HEOEr 3, 176] 7,355 3,645 3,710 6 22 -2 7 9 19 34 15 5 8 3
<HWE—TH 599 1,347 653 694 6 7 1 1 0 7 11 4 -1 0 1
<HEIL—TH 709 1,473 719 754 1 3 2 2 0 1 7 6 0 0 0
SHBEIL=TH 515 1,138 554 584 -3 —4 -1 0 1 -3 4 7 0 0 0
<HEWLPTH 571 1,176 577 599 -2 -1 -1 1 2 -1 3 1 1 0
<O T H 282 628 339 289 -2 —4 0 0 0 —4 4 0 0 0
<WEIEEH 2,676 5,762 2,842 2,920 0 1 1 4 3 0 24 24 0 1 1
WIE AR —TH 797 1,699 835 864 -2 0 -1 1 2 2 8 6 -1 1 2
WIEAR T H 480[ 1,136 582 554 4 3 -1 1 2 2 3 1 2 2 0
IEATSE 1,277 2,835] 1,417 1,418 2 3 -2 2 4 4 11 1 3 2
s 399 765 369 396 0 -1 -1 0 1 -2 4 2 3 1
ek a— T H| 1,165 1,825 837 988 9 11 1 1 0 10 27 17 0 2 2
e T H 470 773 380 393 0 5 2 2 0 3 12 9 0 0 0
kR =T H 688 1,729 813 916 2 -1 -1 0 1 2 8 6 -2 1 3
sk BRI H 414 861 413 448 8 13 2 3 1 9 10 1 2 2 0
oA El 2,737 5,188 2,443| 2,745 19 28 4 6 2 24 57 33 0 5 5
FRIREET 20 52 27 25 0 -1 -1 0 1 0 0 0 0 0 0
B 746 1,727 828 899 -2 -5 -2 0 2 -3 0 3 0 0 0
VEEE 321 730 334 396 0 1 -2 0 2 1 2 1 2 2 0
e — T H 4550 1,110 554 556 0 -3 0 0 0 -3 2 5 0 1 1
e T H 409 919 450 469 1 2 0 0 0 2 6 4 0 0 0
oo B R 864 2,029] 1,004| 1,025 1 -1 0 0 0 -1 8 9 0 1 1
P — T H 695 1,418 708 710 3 1 0 1 1 2 7 5 -1 0 1
P T H 544 1,290 606 684 1 -3 -2 0 2 -1 6 7 0 0 0
WeEEm A Er 1,239 2,708 1,314] 1,394 4 -2 -2 1 3 1 13 12 -1 0 1
P e 321 689 347 342 1 3 0 2 2 1 3 2 2 2 0
BEHIR 207 482 254 228 -1 -1 -1 2 3 0 0 0 0 0




